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Instructions
For the following questions answer them individually

Question 1

Six people A, B, C, D, E and F live on six different flo building. The ground floor is numbered 1, the
floor above it is numbered 2 and so on. C lives on the floor immediate below the floor of A. E lives on the
floor immediate below the floor of D. Three people live between the floors of F and E. B does not live on
the topmost floor. A does not live e floors below than D. E and F live on the even numbered
floors. Who lives on 5th numbered flo

A A

B C

C D

D F

E B
Answer: A

Explanation:
E and F live on eve’\gﬁumbered floors with 3 people between them. That is possible only if they occupy 2 and 6 floors.

Since D is above t at the top. So, Fison 6 and Eon 2. Dis on 3. Cis below A and A is above D. So, Ais on 5.
Instructions

Study the foll W|ng arrangement carefully and answer the questions that follow:

Trilok, Mu
from 1 to

d Mahesh, Somesh, Arjun and Bhupal are living in the six floors of a six-storeyed apartment numbered
|FIoor 1 is the lowest and floor 6 is the highest. Mahesh is living in an even numbered floor. Arjun is not
t the topmost floor or the bottom most floor. Trilok is above Mukund and Mahesh. Bhupal is below
floors between Arjun and Mukund and Mukund does not live on the lowest floor.

Question 2

Who is in floor 2?

A Trilok
B Arjun
C Mukund

D Somesh

E Can’t be determined

Answer: E

Explanation:
Arjun is not in the topmost or bottommost floor and there are tw s between Arjun and Mukund. This is only
possible if Arjun is in 5 and Mukund is in 2 or Mukund |

4
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Trilok

Arjun/Mukund

Somesh

6
5
Mahesh 4
3
2

Mukund/Arjun
Bhupal 1

So, we can't'determing if Arjun or Mukund is in 2 (or 5).

Question 3

If the tenants are assigned floors based on their names in alphabetical order, so the first name in a
dictionary would get the topmost floor and so on, the floor number of Trilok would change by ....

E Can’t be determined

Answer: D

Explanation:
The arrangement in the alphabetical order would be Arjun - 6, Bhupal.- 5, Mahesh -4 , Mukund - 3, Somesh -2, Trilok - 1

Trilok 6

Arjun/Mukund
Mahesh
Somesh

Mukund/Arjun
Bhupal

So, his position changes fram 6 to 1 ie by'5.

= N W B O

Get 280 IBPS Mocks for Rs. 249 - Enroll here
Instructions
Study the given information-carefully to answer the given questions.M, N, O, P, Q R and S are seven people live on
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seven different floors of a building but not necessarily in the same order. The lower most floor of the building is
numbered 14 the one above that is numbered 2 and so on till the topmost floor is numbered 7. Each one of them have
different income i.e., 3500, 15000, 7500, 9000, 11000, 13500 and 5000. (But not necessarily in the same order.) M
lives on an odd numbered floor but not on the floor numbered 3. The one who has income of 11000 lives immediately
above M. Only two pegple live between M and the one who has income of 7500. The one who has income of 15000
lives on one of.the odd numbered floors above P. Only three people live between 0 and the one who has income of
15000. The one who has income of 7500 lives immediately above 0. R earns 4000 more than Q. The one who has
income of 3500 lives immediately above the one who has income of 5000. S lives on an odd numbered floor. Only one
person lives between N and Q. N lives on one of the floors above Q. Neither 0 nor M has income of 0000. Q does not
has income of 500.

Question 4

Who amongst the following lives on the floor numbered 2 ?2

A N
B The one who has income of 3500

C The one who has income of 5000

D P
E R
Answer: E

Explanation:

M lives on an odd numbered floor but not on floor 3. The one who has income of 11000 lives immediately above M.
Only two people live between M and the one wha has income of 7500,The one who has income of 7500 lives
immediately above O, this can be represented in 2\scenarios.:-

11000

7500

=N W |G |~

=N WO |~

Only three people live between!0.and/the one who has income of 15000. Person with income of 3500 lives
immediately above the one with income of 5000.
Neither O nor M haslincome of 9000 this eliminating scenario-1 :-

7 |15000 7 | 9000

6 | 3500 6 | 11000

S [5000 S |15000 | M

4 | 7500 4 | 3500

3 0 3 | 5000

1 M 1 |13500| O
1 Z

Only one person lives between N and Q. N lives on one of the floors’above Q. Q daes not has income of 7500. Thus Q
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leaves on floor 4.

9000
11000 N

15000
3500
5000

7500
13500] O

2

o=

=N WO U’llm‘\]

R earns 4000 more than Q. The one who has income of 15000 lives on one of the odd numbered floors above P.

9000
11000

15000
3500
5000

7500
13500

2

=N OO U1|O‘4\1
o| x| n|o|=Z| 2| »

Hence Option E.
Instructions

Study the following information carefully and answer the

questions given below Among six persons — K. L. M, N, 0 and P— each lives on a different floor of a building having six
floors numbered one.to'six (the ground floor is numbered 1, the floor above it is numbered 2 and so on and the
topmost flour is numbered 6). L lives on an even numbered floor. L lives on a floor immediately below K’s floor and
immediately above M’s floor. P lives on a floor immediately above N’s floor. P lives on an even numbered floor. 0 does
not live on floor number 4.

Question 5

On which floor does’0 live ?

A 6th
B 2nd
C 3rd
D 5th

E Cannot be determined

Answer: A

Explanation:
Let the floors be :

6
5
4
3
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2 o

1

It is given that L lives on an even numb oor, ible’ cases are:
6-L

5

= N W b

3
2-L
1

two cases are possible. i.e
6
5-K
4-L
3-M
2

1
OR
6

5

4

3-K

2-L

1-M

Now, P lives on a floor immediately a N’s floor. P lives on an even numbered floor . So possible case is
6

5-K

4-L

Downloaded from cracku.in


https://cracku.in

2-P
1-N

OR
6-P
5-N
4
3-K
2-L
1-M
It is given that O does not live on floor 4, So,the answer is
6-0

5-K

4-L

3-M

2-P

1-N

Question 6

Who amongst the following does live on 5th floor ?

A 0
B M
C N
D K

E Cannot be determined

Answer: D

Explanation:
Let the floors be :

N WA~ Ul O

It is given that L lives on an evennumbered floor, so possible cases are:

6-L

= N W b
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3
2-L
1

6
5-K

3-K
2-L
1-M

Now, P lives on a flo

6
5-K
4-L
3-M
2-P
1-N
OR

6-P
5-N

3-K
2-L

C

Now, L lives on a floor immediately below K's floor an@ove M’s floor, So out of the above three only las
two cases are possible. i.e

.
C
O

ediately above N’s floor. P lives on an even numbered floor . So possible case is
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It is given that O does not live on floor 4, So,the answer is

1-M //\iﬂ& J )
\)”)

6-0

5-K \‘\w
a-L g
3-M .

2-P
1-N

—

IBPHS\RH__,@' e Mock Test
Instructions

Study the following information carefully and answer the questions given below:

Seven persons |, K, L, M, N, O and P I'\}gon seven/different floors of a building but not necessarily in the same order.
The lower most floor of the building i mber , the one above that is numbered 2 and so on till the topmost floor
is numbered 7. Each one of them also likes a different subject namely-English, History, Commerce, Biology, Accounts,
Geography and Computer (but not necessarily in the same order.)

* J lives on an odd numbered-floor.but not on the floor numbered 3. The one who likes Accounts lives immediately
above J. Only two personsjl/;/:‘? %ﬂ_M and the one who likes Accounts.

* The one who likes Histo Ly' liveg/on one-6f the odd numbered floors above M. Only three persons live between L and
the one who likes History. The gj@jlikes Commerce lives immediately above L.

e The one who likes English live \f mediately above the one who likes Computer. P lives on an odd numbered floor.

-

* Only one person liyes between K and N. K lives on one of the floors above N. Neither L nor ] likes Biology. N does not
like Commerce. ..\ \

S~

A\
Question 7 S

Who amongst the follom lives on the floor numbered 2?

D /
B The one who-like§ English

C The one who likes Computer
D M
E O /
e
). b

Answer: E

/

ikes Accounts lives immediately

P
Explanation:
J lives on an odd numbered floor but not on the floor numbered 3/and who
1 the one who likes Accounts lives on 6th

above ], => ] lives either on floor 1 or 5, let he lives on floor 5 (c

floor. e)
Only two persons live between M and the one who likes Account§“,\_= iv n 3rd floor

The one who likes History lives on one of the odd numbered floors a&m@l\;l, => He lives on 5th floor.

Only three persons live between L and the one who likes I-Iis;brgk\=> L lives on 1st floor.
y

The one who likes Commerce lives immediately above L, => Helli e}_sn 2nd floor.

The one who likes English lives immediately above thé@ae\who likes Computer, => The one who likes English lives on
4th floor. -

P lives on an odd numbered floor, => P lives on Zth floor.
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Neither L nor ) likes Biology, => P likes Biology.

Floor | Person | Subject
7 P Biology
6 K Accounts
5 J History
4 N English
3 M Computer
2 0] Commerce
1 L Geography

O who likes commerce lives on 2nd floor.
=> Ans - (E)
Instructions

Study the following information carefully and answer the questions given below :

Seven persons - M, N, O;P, Q, R and S - live on separate floors of a sevenstoreyed building, but not necessarily in the
same order. The ground/floor of the building is numbered 1, the floor above it 2 and so on until the topmost floor is
numbered 7:Each person likes diffemt cartoon characters, viz, Chipmnuk, Flinstone, Jetson, Popeye, Scooby Doo,
Simpson and Tweety, but not necessarily in the same order. The person who likes Popeye lives on floor numbered 4.
Only two persons live between P and the one who likes Popeye. M does not live on the lowermost floor. M lives on any
odd numbered floor below the one who likes Popeye. S lives on an even numbered floor but neither immediately
above nor immediately below the floor of M. Only two persons live between M and the person who likes Tweety. Only
one person lives between N and R. R lives on an even numbered floor and‘does not like Popeye. Only three persons
live between the persons who like Chipmnuk and Jetson respectively. The person who likes Chipmnuk live on any floor
above the N’s floor. The person who likes Chipmanuk does not live gn the topmost floor. O does not like Chipmnuk or
Jet-son. The person who likes Scooby Doo lives on the floor immediately above-the floor of the perosn who likes
Simpson.

Question 8

Who among the following lives on the floor immediately above the floor of M ?

A N

B R

C S

D O

E No One
Answer: A

Instructions

Read the following information carefully and answer the questions which

follow : P, Q, R, S, T and V live on different floors in the same building having six floors numbered one to six (the
ground floor is numbered 1, the floorabove it, number 2 and so on and the topmost floor is numbered 6). There are
two floors between the floors on which Q and V live. Q lives on a floor below V's floor. Neither P nor T lives on a floor
immediately above or immediately below the floor'on which Q lives. P does not live on an odd numbered floor. There is
only one floor between the floors on which-S.and'T live. T does not live on a floor immediately above or immediately
below the floor on which R lives,

Question 9

Who amongst the following lives-on-the topmost floor, i.e. floor number 6 ?
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B S
C R
D P

E Either V‘or P

Answer: D

Explanation:
There are two floors between the floors on which Q and V live. Q lives on.& floor below V's floor. Neither P nor T lives
on a floor immediately above or immediately below the floor on whichQ lives

Case 1: Let V lives on 6th floor and Q on 3rd floor, => P cannot lives on 2nd and.4th floor, thus not possible.

Case 2 : Let V lives on 5th floor and Q lives on 2nd floor. Since, /there is a gap of 1 floor between Sand T, thus Sand T
live on either 6th or 4th floor. Then, again there is no even floor left for P. /

Case 3 : V lives on 4th floor and Q lives on 1st floor.
There is only one floor between the floors on which S and T live, '=_> S/and T lives on either 5th or 3rd floor.
Since P lives on even floor, => P lives on 6th floor and R lives on 2nd floor:

Also, R is not a neighbour of T, => S lives on 3rd floor and T lives on 5th-floor.

Floors| Person
6 P
5 T
1 v
3 5
2 R
1

P lives on topmost floor.

=> Ans - (D)

IBPS PO Previous Papers (Download PDF)

Instructions

Study the following information carefully_to answer the

given questions. .

Seven neighbours S, P, L, Q, R, 'M_ and I'live on dif erent floors in the same building having seven floors numbered one
to seven. (The first floor is numbered one, the floor above it, is numbered two and so on till the topmost floor is
numbered as seven.) Three persons live between | and M. M lives on the floor above S, who does not live on an odd-
numbered floor. P'neither lives on an odd numbered nor on topmost floor. R does not live on the first floor. Two person:
live between | and S. Q lives.neither on the first floor nor on the third floor.

Question 10

Who Iives_-o’h the floor just above M?

A |

B P
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c Q
D Rr
E None of these

Answer: C

Question 11

Which of the following pairs live on the first floor an r respectively ?

A LQ
B QP
C ILQ
D LI

E Can’t be determined

Answer: A
Question 12
Who amongst the following’lives he topmost floor ?
. \
—
B Q S—

D L o (rf i
. )
E None of these 5

7

Answer: B |
&5 ‘\\
» \HI\'BPS Po Important Questions PDF

Instructions

Study the JWr’nation carefully and answer the questions given below :
Nine friends — \MEO//D E, F, G, H and | — live on nine different floors of a building but not necessarily in the same
order. The lowe st floor of the building is numbered one, the one above that is numbered two and so on till the
topmost floor is numbered nine. | lives on floor numbered six. E lives on an odd numbered floor above I. Only three

people live between E and G. A lives on an even numbered floor immediately below D but not on the floor numbered
eight. Only one person lives between A and F. C lives on one of the floors below F. The number of people living above

C is equal to the number of people living below H.

Question 13 /
How many persons live between A and the person living the frorfa}uﬂjred seven?
C One \,v()j
D

None &

A More than three

B Two
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E Three

Answer: B

Explanation:
I lives on floor numbered six and E lives on an o

=> G i

numbered floor above |, => let E lives on 7th floor.

on 3rd floor

Only three people live between E and

A lives on an even numbered floor immedia ut not on the floor numbered eight, => A lives on 4th floor

and D lives on 5th floor.

Only one person lives between A and F and C lives on one of the floors below F, => F lives on 2nd floor which means
C lives on 1st floor.

Since, 8 people live above C, => 8 people should live below H, => H lives on 9th floor.

The only remaining floor, i.e. 7th floori . The arrangement :
Floor Person
9 H
8 B
7 E
6 I
5 D
4 2

g

1 C

A lives on W, there are 2 person living between him and the person on 7th floor.

=> Ans - (B)
Question 14

H lives on which of the following floor numbers?

A Eight
B One
C Five
D Nine

E Other than those given as options

Answer: D

Explanation:

| lives on floor numbered six and E lives on an odd numbered floor el, => let E lives on 7th floor.
Only three people live between E and G, => G lives on

A lives on an even numbered floor immediately below D but noton the floor numbered eight, => A lives on 4th floor
and D lives on 5th floor.

Only one person lives between A and on one of the floors below F, => F lives on 2nd floor which means

C lives on 1st floor.
Since, 8 people live above C, => 8 people shoul elow H, => H lives on 9th floor.

The only remaining floor, i.e. 7th floor isstaken by B. The arrangement :

[ m
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Floor Person

9 H
8 B

7 E

6 |

5 D

1 A

3 G

2 F A
1 C ~

H lives on 9th floor.

=> Ans - ( /

s

Instructions.

Study the following information carefully and answer the questions given below :

Nine friends - P. Q, R, S, T, U, V. W and X — live on nine different floors of a building but not necessarily in the same
order. The lower most floor of the building is numbered one, the one above that is numbered two and so on till the
topmost floor is numbered nine. T lives on an odd numbered floor below the floor numbered five. Only three people
live between T and X. Only one person lives between X and V. V lives above X. Q lives on an odd numbered floor
immediately below P. Q lives on the floor numbered five. The number of persons living between X and P is equal to the

Question 15

S is related to the floor numbered six and R is related

A Seven
B Nine
C Five
D Eight
E Four
Answer: B
Explanation: (’
Q lives on fifth floor, => P lives on 6th floor.

T lives on an odd numbered floor below.the floor numbered five and only three people live between T and X,

=> If T lives on 1st floor, then X mus { ves on fifth floor which is not possible as Q is living on it.

=> T lives on 3rd floor and X on 7th floor.

Only one person lives between X and s above X, => V lives on 9th floor.

Since, there is no one living between X and P, => no one must also live between T and S, thus S lives on 4th floor.

W lives on an even numbpmmediately above R, => W lives on 2nd floor and R lives on 1st floor.
B
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Floor Person
9 A
] u
¥ H
6 P
9 Q
4 5
3 T
2 Wy
1 R

S is related to 6, => S lives one floor below 6th floor.

R is related to 3, => R lives one floor below 3rd floor.

Similarly, X lives one floor below 9th floor, => X is related to /9

=> Ans - (B)

Free Banking Study Material (15,000 Solved Questions)

Question 16

U lives on which of the following floor numbers?

A Five
B Four
C Nine
D Three

E Other than those given as option

Answer: E

Explanation:
Q lives on fifth floor, => P lives on 6th floor.

Only one person lives between X and V and V lives above X, => V lives on 9th floor.

Since, there is no iving between X and P, => no one must also live between T and S, thus S lives on 4th floor.
W lives on an even numb loor immediately above R, => W lives on 2nd floor and R lives on 1st floor.

=> U lives th floor. The arrangement is :

o A/
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Floor Person U
9 A
] u
m -
6 P
9 Q
4 5
3 T
2 Wy
1 R

U lives on 8th floor, which is not mentioned in the options.

=> Ans - (E)
Question 17

How many persons live below the floor on w lives?

A One
B Two

C More than three

D Three
E None
Answer: A

Explanation:

Q lives on fifth flo P lives on 6th floor.
T lives on an odd number or below the floor numbered five and only three people live between T and X,
=> If T live 1st floor, then X must lives on fifth floor which is not possible as Q is living on it.

=> T lives/on 3rd floor and X on 7th floor.

tween X and V and V lives above X, => V lives on 9th floor.
Since, there is living between X and P, => no one must also live between T and S, thus S lives on 4th floor.
W lives on an even numbered floor immediately above R, => W lives on 2nd floor and R lives on 1st floor.

=> U lives on 8th floor. The arrangement is :

Floor Person
9 W
8 u
¥ H
6 P
5 o}
4 5
3 T
2 Wy
1 R

Only R lives below W.
=> Ans - (A)

Instructions

Downloaded from cracku.in


https://cracku.in

Study the following information and answer the
Nine friends - P, Q, R, S, T, U, V, W and X — live

estions given below:

nine different floors of a building but not necessarily in the same
order. The lower most floor of the buildi \‘Ts numbered one;the one above that is numbered two and so on till the
topmost floor is numbered nine. Only two pe li elow the floor on which V lives. Only one person lives between
Vand P. W lives on an odd numbered floor but not.on.floor number 7. Only two persons live between W and Q. X does
not live on the topmost floor. P does not live on the lowermost floor. S lives immediately below R but R does not live on
top most floor. Neither R nor T live on /obr number 6. U lives immediately above P.

Question 18 K .
Who lives on the floor immediat &\belovy//
A X
B T /— Ny
u / 4

c s | j

\"\-_

e
D Q C
E U Q

.

Answer: A \\‘:‘;}

Explanati p/
Only two el{sons Iiv;z?}ow the floor on which V lives, => V lives on 3rd floor
&

Only one p NSQQ_Iiv‘e tween V and P and P does not live on the lowermost floor, => P lives on 5th floor.
W lives on an old'a'ﬁﬁjrhbered floor but not on floor number 7, => W lives on 1st floor.

Only two persons live between W and Q, => Q lives on 4th floor.

S lives immediately below R but R does not live on top most floor, => R lives on 8th floor and S on 7th.

U lives immediately above P, => U lives on 6th floor. /

Since, X does not live on top floor, => X lives on 2nd floor and T lives on 9th floor.

Floor Person
9 T
8 R
7 5
6 U
3 P
4 Q
3 W
2 H
1 b

Clearly, X lives on the floor immediately below Vi

=> Ans - (A) Q‘:\ P
H\\H ——
Daily Free Banking Online Tests
Question 19 /
On which of the following floor n@aersdjs X live?
A Four “‘“:._-f'/

L.
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B One [/

C Two

D Five £
(
E Seven "
Answer: C
Explanation:
Only two q?sons live b?low the floor on which V lives, => V lives on 3rd floor

Wﬁ’tween V and P and P does not live on the lowermost floor, => P lives on 5th floor.

Only one p
W lives on an o mbered floor but not on floor number 7, => W lives on 1st floor.

Only two persons live between W and Q, => Q lives on 4th floor.

S lives immediately below R but R does not live on top most floor, => R lives on 8th floor and S on 7th.

U lives immediately above P, => U lives on 6th floor.

Since, X does not live on top floor, => X lives on 2nd floor and T lives 9th floor.

Floor Person
9 T
8 R
7 5
6 U
3 P
4 Q
3 W
2 H
1 b

X lives on 2nd floor.

=> Ans - (C)

Question 20

Who lives on floor numbered five?
A U

B Q

Cc S

D P

E Other than those given as p{'tions
\

Answer: D

iately b }t{w R but R does not live on top most floor, => R lives on 8th floor and S on 7th.
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U lives immediately-above P, => U lives on 6th floor.

Since, X does not live on top floor, => X lives on 2nd floor and T lives on 9th floor.

Floor Person
9 T
8 R
7 5
6 U
3 F
4 Q
3 W
2 H
1 2

P lives on 5th floor.

=> Ans - (D)
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